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a1/ SECTION-I 15

epiy : () Sloersy demnaaenssd sisoLweissayb.
(i) e®Br@E&sULLL e eleoLaeried Baad gpuysoLw sileoLuilee
G5O 50S58, SDUIGLeN eflepLullsnemuyld GETSSH TRSND.
Note : (i) AnswerAll the questions.

(ii) Choose the most suitable answer from the given four
alternatives and write the option code and the corresponding

answer.

1. @eflulwed &sLigedw saw®ISSaIT —

&) eLedsLeTEHesT @ Mesi® eowedr (&) eviesy EYLI6HT ® Léevsv Diclieie0s
Optical Mouse invented by —
(a) Telefunken (b) Richard Lyon (c) Steve Ben (d) Douglas Affleck
2. waed aemls CHIHS HIsre) Fwed —
g ©) Intel 1001 ©» Intel 2002 (@ Intel 4004 @ Intel 8080
The first commercial microprocessor is—
(a) Intel 1001 (b) Intel 2002 (c) Intel 4004 (d) Intel 8080
3. AAA &® &Lwner udeitiBemeo  eresor—
@) 2730 @y 2720 (@ 101010 ® Sma ggiicened
The Decimal equivalent of AAA, is—
(a) 2730 (b) 2720 (c) 101010 (d) None of these
4. amié osmeiGsst swewefo, aaeflie 18bs BmHED, Bometusd aaeafiig O SHGib.
@) AND ©@» NAND @ XOR ® XNOR
output is 1 if the inputs are the same, otherwise output is O.
(a) AND (b) NAND (c) XOR (d) XNOR
5. Seramaerapper ag darsatien Wal Lyuewmer Grsmaws UBiDETD HEOEDEO 7
@) &0GgmGwr OS (Y aewest. OS ® ewLwmedr ® teliues
Which of the following is not Linux server distributor ?
(a) FroyoOS (b) CentOS (c) Debian (d) Deepin
6. 0<i Buseashs wer, i:=i-1 BusGAsHE Ner i-@e LIIY —
@) i>0 @ 0xi @ i<0 ® i<0
if 0<i before the assignment i:=i-1 after the assignment, the vaiue of i is—

(a) i20 (b) 0>i (c) i<0 (d) i<0
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7. SpasamLapned a5 Spmbs e C++ agneuuTeT Bebdeweo ?
@) Dev C++ @ Digital Mars @ Geany ® Turbo C++
Which of the following is not open source C++ compiler with IDE?
(a) Dev C++ (b) Digital Mars (c) Geany (d) Turbo C++
8. QswhsebeED LILGTLGSS S GPILDIDE Shrided TERTOIWSST 6160 SERTLLILIEOMD —
@) Isalpha() @ Isalnum() @ Isalphanum() @ Isanum()
function is used to check whether a character is alphanumeric or not.
(a) Isalpha() (b) Isalnum() (c) Isalphanum() (d) Isanum()
9. QUEDTEIIEDEDED ETETLIG (B DI BweodLS SHESDS.
©) Bred @y ® eswphsap ® Bwerausbd
Scope refers to the accessibility of a—
(a) Program (b) Variable (c) Function (d) Memory
10. Dev C++@ed QeavefluicewL seor@uile : int a[10]; cout<<sizeof(a);—
@) 40 ©p 4 @ 20 ® 2
Find the output in Dev C++: int a[10]; cout<<sizeof(a);—
(a) 40 (b) 4 (c) 20 : (d) 2
. assewen eusnswner LNLBewed OFWOGMEET L 6iTame ?
@) 1 ©p 3 @ 6 ® o
How many kinds of bitwise operators available ?
(a) 1 (b) 3 (c) 6 (d) 9
12. dleo ueIwedL|E6T HOID APLIL LKL SEDETLLD OSBRI SEDLIIMOTD SHTERTSSS &@UL@—
) eepoundunssb (@) BTESW ® eunmer ® SimeuDN&SsLD
represents data and associated function into a single unit.
(a) Encapsulation (b) Class (c) Object (d) Abstraction
13. aswhem 2 piisefisi CedlLewed Sefliie@Lb.
&) : @ 7 @ Sizeof ® =
The overriding of the members are resolved using operator.
(a) (b) ?: (c) Sizeof (d) ::
14. 2 amepd @eOeoTs R6EDD, WEHHMET HIOLIDEUSS SFDMDIICUS —
©) evGud =y gwmhpseo & seomf sveweodm @ Sewe T
Tricking people into believing something that is not true is—
(a) Spam (b) Spoofing (c) Salami slicing (d) None of these
15. 518 Owmf Brefled wseirepWTETE —
@) enfed ©D s @ @seotienu ® Tscll
The first Tamil programming language is—
(a) Ezhil (b) Azhagi (c) Ekalappai (d) TScll
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16.

17.

18.

19.

20.

21.

22.

23.

24.

25,

26.

27.

9fie-11/ SECTION-II

oy : gCs5D SO HKNESEHEHS ehlemLwerfis s aliD.
Sapme e aaw 24-56 &ERTIQLILITE eflenLwef&&aLD.

Note : Answer any Six questions. Question No. 24 is compulsory.
SfsmLwSD — auenrwml.
Define — Transistors.

Ne2-1760mHa 2-6r Briy wesopuiled &0 &H6|ID.
Subtract 11 from 17 by 2's complement method.

MwnérOS eretpnsd  ererent ?
What is React OS?

ABNWED SLELINTS OFSTESSEET E6TDICD eTeeu?
What are the building blocks of Algorithms ?

if-else wpmb switch GeoLCwwiner GaimyumLigewes A& G .

Explain the differences between if-else and switch statement.

TDAIGWEID BTG S6Wis 61FWDFaDIsmarT cllens &s.

Explain any four Mathematical functions in C++.

ueoBewed PSS EUDTIIMI-

Define : Multilevel inheritance.

SOOI eTTDTed eT6Ten 2
What is Thamizpori ?

IeraumaaTapmine aeaeiul® eawss. @ int =25 cout<<++i<<” “<<j++;

Write the output for the following: int i=25; cout<<++i<<” “<<j++;

9fiey-Ill / SECTION-III

Sl : gGs@Id SN HMMEHEHHES sflsmLwefls &b,
Slaupnied eflerrm o6t 33-8 SEOTQLLING eflemLwefissayb.

Note : Answer any Six questions. Question No. 33 is compulsory.

Cas Beparassms Hens&s.
Explain Cache Memory.
et @enLp&sSms 6HensGs.

Explain User Interface.

slemGLie Qwas Siswwlnfed Switch User wpmib Log Off vweunienL eflené@s.

Explain the usage of Switch User and Log Off option in Windows OS.
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28.

29.

30.

31.

32.

33.

34.

35.

36.

Q®EEHOID shlensGs.

Explain Refinement.

C++ o erer aewpGmseaier weraufweow aerdos.

Explain the order of precedence in C++,.

8® ufnewr syemrusefisr Diswhspw TBS5EIHENLGLET efeThE.
Explain 2-D Array of Strings with example.

Spédadt LHDID JNPIyselsr Dievarss LskBDaTLLD Capu@s58is.
Differentiate all the characteristics of Constructor and Destructor.

BUHG euEWIN GSHWTESSMS chlaTs S s.

Explain the two types of Encryption.

if-else LweTLGSS mrerG esTEeafed difsuLe aameent saLPlwu C++ Brewed awSe|lb.

Write C++ program to find greatest of four numbers using if-else.

Ufle-IV / SECTION-IV

el : SlAGH dAamssepssh soLweisseab.
Note : Answer All the questions.

ASCIl wpmib weliGam: upm eAfens ceandes.
(St6deog;)
Beveeus Goeonemamw WHND OFW Ceonsmasn Ly ApGHY TR SIS.
Discuss in detail about ASCIl and Unicode.
' (OR)
Write short notes on Memory Management and Process Management.

OBMAPEDD CUIgEUEDIDLIL| HILLIMISENET 6Hl6nsEs.
(St6be0g)
SD&EPHA WYepulled Assmeng SisGw wepuleer clandss.
Explain in detail about Algorithm Design Techniques.
(OR)
Discuss about Recursive problem solving.

aun@geT CBnsG Breonsssder wpg wsdw Apiniweyseer chorsss.
(Sisbevg)
DS epedld @IS WHMID Sy epeold eI sed TBSHSETBLET cfonsEs.
Explain the five main features of Object Oriented Programming.
(OR)
Explain call by value and call by reference with example.

=
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37. QFwpenH u 6wl & LIl s e G5 SI5HTLBLET shlens&S-

(@10608)

[p&eOmSS W06 TGS SSHHTBLET shlen &S -

in operator overloading with example.
(OR)

r with example.

Expla
Explain copy constructo

srepauGend Bre® FpHAWEOD FaDDISEET agmLfiwed HOID OS5 EISEMBLET eheTa &S,
(Sisoe0g)

L& 66T STGLIIRSSILD.

38.

Sereuh Bredled agmLilwed e
#include(iostream.h)

Class A

{

public;

int A1, A2:A3;
Void getDatal]
{

a1=15;

a2=13;
a3=13;

}

}

Class B:: public A()
{

PUBLIC
voidFunc()

{

int b1:b2:b3;
A::getdataf];
B1=a1l;
B2=a2,
B3=a3,
cout<<b1<<’\t’<<b2<<'t\<<b3;

}

void main()

{
B der;

der1:func();
%
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Explain sany two iteration statements with syntax and example.

(OR)

Find out Syntax error in the following program.

#include(iostream.h)

Class A&

{

public;

int A1, A2:A3;
Void getDatal]
{ .e
a1=15;

a2=13;

a3=13;

}

} OF
Class B:: public A()
{

PUBLIC
voidFunc()

{ T

int b1:b2:b3;
A::getdatal];
B1=a1;
B2=a2;
B3=a3;
COUt<<b1<<’\t'<<b2<<’t\<<b3;

}

void main()

{ £l
B der;
der1:func();
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